Bellwork Alg2  Wednesday, May 8, 2019

Use the Unit Circle to find the EXACT value of each. Simplify and rationalize all fractions as necessary.

1. secz—:;l 2s cot_33J 3 csc5§T7r 4. cot(—1950°)

Use a calculator to find each to the nearest hundredth.

5. cscd442° 6. sec% 7. cot(-13°)

8. Given Secf = %g— find the other five trigonometric ratios. Leave answers as fractions. Rationalize
denominators and simplify. (o7
Sind = Cosf = Tané = Benl = Csch =
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Use a calculator to find each to the nearest hundredth.
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